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Algebra ll Warm Up

Solve the following system of/c%l%tions.
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Today we will be looking at the inverse of an exponential
function. It is called a Logarithm. We will be converting
from exponential form to logarithmic form.
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There are two special types of logarithms. y = bx <:> IOgb y= X
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Graph f’dpha
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Graph Conclusion

y= 10g31 x—2) 1 1. What is the common log? Jp[ﬁ_w
+a i
2. What is the natural log?
x-int: !ES ( )) J’O

3. How do you switch from exponential to log form?
y-int: NONE_ ] /—? Y a’g= 3 n[‘°‘39?% = 5: g
Domain: (3 w) f 4. What type of asymptote\?oe -a log\graph have?

: ( , ! oA %.,Q o 32 _
Range:<—°° %'w ! 5. What b.uttons do you push to graph a log function?
Asymptote: Y=1)_ ! 6. Question???? w(:" ‘9“:
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